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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,024 86,319 41,147 45172
RIRET1T 6 15 9 6
RIRET2T 26 54 25 29
AIEET3T 180 589 287 302
RIRET4T 397 958 479 479
B 609 1,616 800 816
REH 2,673 5,992 2,786 3,206
L&A 4,339 9,475 4,397 5,078
5E 2,639 5,940 2,866 3,074
B AN 1,311 2,851 1,337 1,514
BERT 1,382 1,966 953 1,013
BER2T 766 1,385 666 719
BERST 584 1,367 660 707
B 2,732 4,718 2,279 2,439
BEXRE 275 653 321 332
= 2,218 4,991 2,364 2,627
hERE 644 1,433 662 771
e 2,483 5,109 2,463 2,646
25 L ET 2,346 5,101 2438 2,663
B &AL BT 74 151 62 89
HEFILET1T 558 1,197 565 632
HEFILET2T 621 1,303 608 695
HEZFILAT3T 647 1,479 728 751
g 1,900 4,130 1,963 2,167
B & it B Fr ET 684 1,570 760 810
BHEREBET1T 584 1,183 572 611
BHERERET2T 771 1,733 827 906
BHERERETST 782 1,601 723 878
BHERERET4T 516 963 452 511
HEKERETST 846 1,707 814 893
HEERET6T 885 1,918 930 988
BHERERET7T 878 1,844 915 929
HERERETST 69 211 103 108
£t| 5331 11,160 5,336 5,824
HEF R FET 1,992 4,150 2,034 2,116
S|EFET1T 629 1,585 790 795
S|EFET2T 71 1,745 823 922
S|EFET3 T 733 1,379 633 746
g 2,133 4,709 2,246 2,463
ERE1T 577 1,315 630 685
EIRET2T 387 1,032 514 518
EREIST 507 1,323 649 674
EIRETAT 690 1,460 650 810
EIZEIST 532 1,104 569 535
g 2,693 6,234 3,012 3,222
ME A 2,908 6,276 2,988 3,288
J\THET1T 37 39 15 24
J\THET2T 26 60 30 30
J\THEI3T 51 112 50 62
B 114 211 95 116
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